GI port: op i C[1(1):0(0)]
C[1(1):0(0)]

op0 [0,1]
opl [0,1]
[C):()]D)
unnamed
[0]
{}1=={

dec unit

DECODERdec_unit
(dec_unit)

dec unit dec unit dec unit dec unit

port o: MUX 1 C[0(0):0(0)] port_o:oc_iC[1(1):0(0)] port o: offset ctrl i C[0(0):0(0)] port o: MUX 0 C[0(0):0(0)]

C[0(0):0(0)] C[1(1):0(0)] C[0(0):0(0)] C[0(0):0(0)]
op0 [0,1] | op1 [0,0] *[0,0] *[0,1] *[0,1] *10,0] offset ctrl i[0,1] *10,1] offset ctrl i[0,0] gp(l) %8’3
([)ID | AHD A (C)ID | ACHID QW) ([C):CID Q@) Q@) [I()*).(*’)D
unnamed | unnamed| class control class control [class control ¢lass control unnamed class control unnamed unna.me d
[0] [0] [0] [0] [0] [0] [0] [0] [0]
U= \{=0 {=={ U=={} f== {=={ == {=={ (1==0)
Y
\ v
“oTionca) “oliopca) i o et
1|{OpC:1} 1|{OpC:1} e DD | {Oﬁg).'(:"())]pc. }
[():()] [(*):(™)] '
([ Q@) ((QXQ)))
HW Muxing Ctrl Clause Use , \ HW Muxing Citrl
[0] [0] {(1'd0)} 0 {(1'd1)} 0 [0]
== == ==
{} {%OP_0]|%OP_1} {}
\J
GI port: dat_i C[0(0):0(0)] MUX ctrlport:  MUX 1  ¢i[0(0):0(0)] port o:res o C[0(0):0(0)] port_o:res o C[0(0):0(0)] MUX ctrlport:  MUX 0 ci[0(0):0(0)]
C[0(0):0(0)] [0(0):0(0)] C[0(0):0(0)] C[0(0):0(0)] [0(0):0(0)]

opl [0,0] op0 [0,1] op0 [1,1] opl [1,1]
([):(M)D ([):(MD ([0(0):0(0)]) ((QX@)) ([):(D ([0(0):0(0)])
unnamed unnamed __ MUX 1 unnamed unnamed _ MUX 0

[1] [0] [0] [0] [1] [0]

=={} {1==0 =={} {1=={
_ MUX 1 __ MUX 0
[(9):(9)] [C):(9)]

*10,0]

((QEQ)))

unnamed offset

[0]

{1=={}

offset

FU: offset
(offset)

offset

port_o:dat o C[0(0):0(0)]
C[0(0):0(0)]
OFS: 1

op0 [3,3]
opl [2,2]
[(5):()D)
unnamed
[0]
{I=={}

Y

GO port: dat_o C[0(0):0(0)]
C[0(0):0(0)]

*10,0]
QL))
unnamed

[0]
{1=={

dec unit



